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Section : English Language

Q.1 Given below are four jumbled parts of a sentence. Select the option that gives their
correct order.

A) takes some extra

B) eating a meal

C) planning and preparation
D) in a spacecraft

Ans  of 1 BDAC

#< 2.BCDA

/X 3.CDBA
#< 4.CDAB

Question ID : 5038909043
Status : Answered
Chosen Option : 1

Q.2 Select the option that is the active form of the given sentence.
A very important project is being finalised by us.

Ans x 1. We have been finalising a very important project.

J 2. We are finalising a very important project.
x 3. We were finalising a very important project.

x 4. We have finalised a very important project.

Question ID : 5038909038
Status : Answered
Chosen Option : 2
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Q.3 Select the most appropriate option for the blank/s.
| listened, it occurred to me these women are a courageous lot.

Ans  of 1 As that
X 2.1, as
75 3. Though, if

/X 4. Whether, that

Question ID : 5038909036
Status : Answered
Chosen Option : 2

Q.4 Select the option that is the indirect form of the given sentence.
The girl said to her mother, ”Can | play for some more time?”

Ans x 1. The girl asked her mother whether she can play for some more time.

x 2. The girl asked her mother that she could play for some more time.
J 3. The girl asked her mother whether she could play for some more time.

x 4. The girl told her mother whether she could play for some more time.

Question ID : 5038909039
Status : Answered
Chosen Option : 3

Q.5 Select the option that is the most appropriate synonym of the given word.
remnant

Ans X" 1. complete
/X 2. whole
75 3. total
of 4. residue

Question ID : 5038909029
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate meaning of the underlined idiom.

Why are you always in a hurry? Remember haste makes waste.

Ans x 1. creating a lot of wastage
J 2. mistakes can occurif one takes hasty decisions
X 3. taking quick actions is useful

X 4. overworking can be dangerous

Question ID : 5038909032
Status : Answered
Chosen Option : 2
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Q.7 Select the most appropriate option for the blank/s.
It late afternoon and three days of rain not stopped.

Ans " 1 has been, is

( 2. was, had
X 3.is, wil

75 4. Will be, does

Question ID : 5038909037
Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate one-word substitute for the following group of words:
Government orders that limit trade in some way

Ans X" 1 help
/X 2. entourage
/X 3.aid
o 4. embargo

Question ID : 5038909033
Status : Answered
Chosen Option : 4

Q.9 Select the most appropriate meaning of the underlined idiom.

Both the quizzing teams are experienced teams so it is a level playing field.
Ans X 1. open air quiz

J 2. fair competition
X 3. unequal competition

x 4. having no competition

Question ID : 5038909031
Status : Answered
Chosen Option : 2

Q.10 A sentence has been divided in segments. Select the segment that has grammatical
error(s).

Together /we can/ and we will/ saved our planet.
Ans  of 1 saved our planet.

x 2. and we will
x 3. Together

x 4. we can

Question ID : 5038909041
Status : Answered
Chosen Option : 3
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Q.11 Select the most appropriate option for the blank/s.
Karuna told me her family, her friends and her affection ___ her three dogs.

Ans x 1. for, for

( 2. about, for
x 3. on, for

X 4. around, in

Question ID : 5038909034
Status : Answered
Chosen Option : 2

Q.12 Given below are four jumbled parts of a sentence. Select the option that gives their
correct order.

A) a young arctic fox,

B) in just 76 days

C) from Norway to Canada

D) trekked more than 2,175 miles

Ans X" 1 BCDA

o 2. ADCB

/5 3.CBAD

#< 4.CDBA

Question ID : 5038909042
Status : Answered
Chosen Option : 2

Q.13 Select the option that is the direct form of the given sentence
The teacher asked the boy why he was so lazy.

Ans x 1. The teacher said to the boy, “Why have you been so lazy?”
J 2. The teacher said to the boy, “Why are you'so lazy?”
x 3. The teacher said to the boy, “Why were you so lazy?”

x 4. The teacher said to the boy, “Why you so lazy?”

Question ID : 5038909040
Status : Answered
Chosen Option : 2
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Q.14 Given below are four jumbled sentences. Select the option that gives their correct
order forming a meaningful and coherent paragraph.

A) later in the evening, she told the journalists and onlookers gathered, “It was the
best way to celebrate.”

B) Maathai planted the tree in Kenya, which is her homeland and which is where she
was when she heard the news

C) within an hour of learning she had won the peace prize, Wangari Maathai planted a
Nandi flame tree

D) she knelt on the earth and dug her hands into the red soil, warm from the sun, and
settled the tree into the ground

Ans X' 1 BDAC

o 2. cBDA
/< 3.DCBA

/5 4.CDAB

Question ID : 5038909044
Status : Answered
Chosen Option : 3

Q.15 Select the incorrectly spelt word.
Ans J 1. acommodation

X 2. accurately
x 3. acceleration

X 4. appreciative

Question ID : 5038909045
Status : Answered
Chosen Option : 1

Q.16 Select the most appropriate option for the blankis.
| would like to do work , so that gain more confidence.

Ans J 1. you, your, yourself, you

X 2. you, your, oneself, you
x 3. her, her, yourself, she

X 4. you, my, myself, |

Question ID : 5038909035
Status : Answered
Chosen Option : 2

Q.17 Select the option that is the most appropriate antonym of the given word.
spurious

Ans X" 1 bogus
J 2. genuine
x 3. fake

X 4. deceptive

Question ID : 5038909030
Status : Answered
Chosen Option : 4
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Section : Quantitative Aptitude

Q.1 360 BT aTal T fIemed & 45 ufawrd a5 & | ey # fFaa iR e asa! &1
i@ faur wime f @s® 50 ufa=ra 8 sme?

Ans  of 1 36
X 2.20
/X 3.18
/X 4,24

Question ID : 5038909059
Status : Answered
Chosen Option : 3

Q.2 Ui Had DI T TEmei 3R Uig e B U WA BT 3 1 B
Ans X' 1.94

K 2118

X373

o 483

Question ID : 5038909069
Status : Answered
Chosen Option : 2

O3 9y _ 8241 gpg 326--5) — 92 then find the value of x + .
Ans x 1.2

X 2.4

v

X 4.2

Question ID : 5038909048
Status : Answered
Chosen Option : 3

Q.4 A can cover a certain distance at a speed of 42 km/h in 1 hour 20 minutes. If A
increases his speed by 6 km/h, then how much time will he take to cover the same
distance?

Ans X" 1. 1h15m
o 2 1hiom
K 3 1h12m
75 4.1h20m

Question ID : 5038909061
Status : Answered
Chosen Option : 2
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Q3 Simplify the following expression.

0.0036 + 36.36
1.15+005+0.1

Ans X" 127972
< 2.207.72
of 327972
/< 427927

Question ID : 5038909053
Status : Answered
Chosen Option : 3

Q.6 The sum of two numbers is 28. When 6 is added to both the numbers, the product of
the numbers will be 396. Find the sum of the squares of the two given numbers.

Ans " 1.300

75 2.420
/X 3.380
W 4. 400

Question ID : 5038909077
Status : Answered
Chosen Option : 4

Q.7 gfe fdt T=T 1 48 U= TP GER WS A & UCTIT oY, T gust ST GTh 39d 60
TFIRIT & SRTER §) W 81 Ul S SR gos) HAT BT U T BT

Ans X" 1.0.170138888888889

/X 2.0.253472222222222

o 3.02125

75 4.1.14236111111111

Question ID : 5038909056
Status : Answered
Chosen Option : 4

Q.8 A-capsule of medicine is in the shape of a cylinder with hemispheres attached at both the ends. If diameter of the

hemisphere is 0.42 cm and length of the capsule is 1.5 cm, then find the capacity of 100 such capsules (in cubic em
correct to 2 decimal places).

o 22
Usem =

Ans X' 1.1884.96

/X 2.188.49
o 3 1885
/X 4.1885

Question ID : 5038909074
Status : Answered
Chosen Option : 2
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Q.9 TP T & fAHUll B FaT3N BT AT 120 cm B 1 I 3T BT URATY (cm H) FId BHo@
oI & d o & A F IR ? 3R TP Yo P @aTs 40 cm &

Ans X 1.85
75 2.360
o 3170
75 4.260

Question ID : 5038909073
Status : Answered
Chosen Option : 2

Q.10 A sports T-shirt costs Rs. 72 per piece and a sports cap costs Rs. 35 per piece. What is
the cost of 50 T-shirts and 25 caps (in Rs.)?

Ans X" 13550
#< 2.8025
/X 3.4500
of 4. 4475

Question ID : 5038909058
Status : Answered
Chosen Option : 4

Q.11 5 men and 5 women working together can complete a task in 12 days. 10 men and 15
women working together can complete the same task in 5 days. In how many days will
4 men and 10 women complete the same task?

Ans X" 1.9
1

2. 9°

K2 9o

3
3. 92
v :
3

4. g2
< 3

Question ID : 5038909065
Status : Answered
Chosen Option : 2

Q.12 T FAfie TR R 5 ufowra 3t arffe o3 @ awafs e ok AR ST BT SR 250
TR g1 R (FUT H) FId B

Ans X" 185000
75 2.80000
75 3.92000
o 4. 100000

Question ID : 5038909072
Status : Answered
Chosen Option : 4
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Q.13 The sum of and difference between the LCM and HCF of two numbers is 264 and 216
respectively. If the two numbers differ by 72, then find the sum of 5 times the smaller
number and 2 times the greater number.

Ans  of 1 480
/X 2.450
/< 3.360
/X 4.69

Question ID : 5038909050
Status : Answered
Chosen Option : 4

Q.14 If the difference of the squares of two consecutive natural numbers is 51, then what is
the sum of the squares of these natural numbers?

Ans " 1.1201

o 2. 1301
/X 3.1250
75 4.1200

Question ID : 5038909076
Status : Answered
Chosen Option : 2

Q.15 The average age of a group of 5 members 2 years ago was 42 years. A new member
has joined the group and the current average age of the group has become 45 years.
What is the current age of the new member (in years)?

Ans X 158
X 2.55
/5 3.60
o 4.50

Question ID : 5038909070
Status : Answered
Chosen Option : 1
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O R afee $o aRER! & @fte @ g §
35000 T3 T AE 3T 1y IRERT &1 9faera Far 22
Fes- up to (T TF)
families (IREW)

Upto Rs | 30000 | 35000 | 40000 | 45000 | 50000 | 55000 | 60000
Families| 8 18 30 a4 56 68 L)

Ans " 1.18
X 2.20
75 3.106
of 424

Question ID : 5038909078
Status : Answered
Chosen Option : 3

Q.17 Balbir Singh can row 33 km upstream in 3 hours and 30 km downstream in 2 hours.
What is the speed of the boat in still water (in km/h)?

Ans X" 1 11
213
X 3.15
K412

Question ID : 5038909062
Status : Answered
Chosen Option : 2

Q.18 uw Ay Tug A 3 (39 3 TSl & SRR S B Jobd 21 S 6 T30 U fAfda o1 &t
18 o= o RT = Whd €, A 7 4BV 3R 3 Asd I Hrd I fraA fa= A R A
Ans «'1.12
1
2. 13
< 132
< 301

X4 1:};

Question ID : 5038909063
Status : Answered
Chosen Option : 2
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Q.19 In the following graph. exports by two companies A and B over six years (in crore Rs.) have been shown.

By how much is the average exports by Company B from 2015 to 2019 more than the average exports by Company A
over the entire six years (in crore Rs.)?

o 58 B 8 &8 8 8 &

Ans 5" 142

Question ID : 5038909079
Status : Answered
Chosen Option : 1

Q.20 The cost price of 10 chairs is Rs. 8000. Manohar spends Rs. 500 as cartage charges.

What should be the selling price of each chair (in Rs.) so that Manohar gains 10
percent?

Ans " 1.880
75 2.950
of 3935
75 4.930

Question ID : 5038909066
Status : Answered
Chosen Option : 3

Q.21 In atest, a student got 32 percent marks and failed by 36 marks. In the same test,
another student got 42 percent marks and obtained 84 marks more than the minimum
essential passing marks. Find the maximum marks for the test.

Ans  of 1 1200
/< 2.1000
/X 3.1250
X 4.1150

Question ID : 5038909060
Status : Answered
Chosen Option : 1
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Q.22 A shopkeeper bought 10 cardigans at Rs. 600 per piece, 8 trousers at Rs. 750 per piece
and 20 shirts at Rs. 400 per piece. If he sells cardigans with 10 percent profit and
trousers with 15 percent profit, then with what percent profit should he sell the shirts
in order to earn 12 percent profit on the whole?

Ans X 111
K 2.11.12
W 31125
X 4115

Question ID : 5038909068
Status : Answered
Chosen Option : 2

Q.23 i AfRATA, B AR CA4:2:5F T = & A1y U a9 3R Al 395
=1 Y 3raftr &1 3rguTd 5:6:8 31 ¥ F A H, C ATH F TUH A 3 B & a1H & gl
F TRT A 5000 TYA AP I fhy| Fo a1y (FUA H) F1d B

Ans X" 142500
75 2.48000
75 3.40000
o 4. 45000

Question ID : 5038909057
Status : Answered
Chosen Option : 2

Q24 Simplify the following expression.

Ans

Question ID : 5038909051
Status : Answered
Chosen Option : 3
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Q.25 A wholesaler has 240 shirts in his stock. The number of shirts of four varieties A, B, C
and D are such that A:B = 7:6, B:C = 1:2 and C:D = 4:5. How many shirts of variety C
are there in his stock?

Ans  of 1 72
5 2.90
X 3.42
/X 4.36

Question ID : 5038909055
Status : Answered
Chosen Option : 1

Q.26 What is the reciprocal of the sum of the reciprocals of the numbers 1, 2, 5, 6, 9, 15?
Ans 45

1. 5t
o) 47
V> 45

92

1

3. s
< -

X4%

45

Question ID : 5038909054
Status : Answered
Chosen Option : 4

Q.27 What is the largest value of k for which the number 8139108k is divisible by 6?

Ans X 1.4
W 26
X 38
X 4.9

Question ID : 5038909047
Status : Answered
Chosen Option : 2

Q.28 The sum of LCM and HCF of two numbers is 374. If the LCM of two numbers is 21
times their HCF and one of the numbers is 119, then what is the other number?

Ans 117
/X 2.357
o 3.51
/X 4.48

Question ID : 5038909049
Status : Answered
Chosen Option : 1
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Q.29 goﬁ%ﬁﬁwﬁwaﬁamwﬁmaﬁmuﬁma&ﬁmﬁmﬁsw@mwgm
|

Ans " 1186
/X 2.216
W 3.275
75 4.324

Question ID : 5038909046
Status : Answered
Chosen Option : 3

Q.30 Five men can finish two-third of a task in 8 days. In order to complete the task in 5
days, how many men should be employed?

Ans " 1.10
K 2.1
o 312
X a8

Question ID : 5038909064
Status : Answered
Chosen Option : 3

Q31 Simplify the following expression.

(3J&+ ¢

Ans 2197

1.—
x 216

)@_ﬁ] \l@+‘ﬂ’¥

793
2, i
216

v

. 87
3. B
S 36

Question ID : 5038909052
Status : Answered
Chosen Option : 2
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Q.32 The diameters of the top and bottom of a metallic bucket are 28 cm and 14 cm respectively. The height of the bucket is
24 cm, Find the cost of the metal sheet required to make the bucket, if it is available at 25 paise per sq. cm.

22
Usem =—
7

Ans  of 1 Rs. 451

#< 2.Rs. 440
/X 3.Rs. 458
#< 4.Rs. 420

Question ID : 5038909075
Status : Answered
Chosen Option : 2

Q.33 A and B borrowed Rs. 50000 and Rs. 46000 respectively for a period of 3 years at 10
percent per annum. A paid simple interest and B paid compound interest compounded
annually. Who paid more interest and by how much?

Ans X" 1.B,Rs. 600
/5 2. A, Rs. 1200
o 3.B,Rs. 226
75 4. A, Rs. 1000

Question ID : 5038909071
Status : Answered
Chosen Option : 2

Q.34 A shopkeeper sells two items. The selling price of the first item equals the cost price
of the second item. He sold the first item at a loss of 10 percent and the second item at
a profit of 10 percent. What is his overall profit/ loss percentage?

< 1. Profit, 2 9%

T 10

10
o 2 Loss—%
19

Ans

19
X 3 Loss— %
10

75 4. Profit, E %

Question ID : 5038909067
Status : Answered
Chosen Option : 2

Section : Intellectual Potential Test
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Q.1 If APRIL= 56R and MAY=39A, then which among the following will be equal to MARCH?
Ans X 1,495

/X 2.38R
X 3.41R
o 4 43R

Question ID : 5038909099
Status : Answered
Chosen Option : 4
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Q.2 The following figures show the sequence of folding a piece of paper. The last figure shows the manner in which the
folded paper has been cut. Choose a figure that would most closely resemble the unfolded form of the paper.

rd
’, . P
L4 % rs ~
~
,’ ~ ,’o o N
’ ’ .y

’ ~ ’ ~

N

Ans

uc .
\\
0 N
£

(= = (4]
%S Qe

0
0

)

o
o
CO
o_o

0
0

0
0

0| |0

(=]
(=)

v

o
o

0
0

Q|0

=
o

X 4

=]
o

%

Question ID : 5038909091
Status : Answered
Chosen Option : 3
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Q.3 fau T fawenl & eg-gwl 919 frd fawer A e St yoR &1 Wy g Ry yoR &1
Hdy i g Te I gm A B

ggdl : REwm

Ans (1.%@%:3%
/X 2. guaHH : TR
/X 3.f8g : offfardt
X4.ﬁl'€q':ﬁﬁ7ﬂ?{

Question ID : 5038909094
Status : Answered
Chosen Option : 1

Q.4 Which of the following options will replace the question mark (?) and complete the
given number series?

4,24,6,48,8,7,10,120

Ans ' 1 56
75 2.100
o 3.80
/X 4.9

Question ID : 5038909105
Status : Answered
Chosen Option : 3

Q.5 Which of the following options will replace the question mark (?) and complete the
given number series?

8,10, 13, 20, 18, 30, ?

Ans & 1.20
K 2,42
W 323
/X 4.40

Question ID : 5038909107
Status : Answered
Chosen Option : 3

Q.6 The ratio of the age of Antonio to the age of Herton is 5:7. After 8 years, this ratio will
become 3:4. What is the difference in years between their ages?

Ans X 1.20
K 2.10
K312
o 416

Question ID : 5038909108
Status : Answered
Chosen Option : 4
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Q.7 Which of the following options will replace the question mark (?) and complete the
given number series?

8,41,11,43,14,45,?

Ans " 1.16
o 217
/X 3.48
X 4,47

Question ID : 5038909106
Status : Answered
Chosen Option : 2

Q.8 If in a certain coding language, ‘DESIRE’ is written as ‘EDISER’ and ‘COURSE’ is
written as ‘OCRUES’. How will ‘DEMAND’ be written in that coding language?

Ans X" 1 EDMADN
/5 2. DNAMED
o 3. EDAMDN

/5 4. EDAMND

Question ID : 5038909100
Status : Answered
Chosen Option : 3

Q.9 If the price of petrol rises from Rs. 56 per litre to Rs.70 per litre. For a person who does
not wish to increase the expenditure on petrol, by how much percent will he/she have
to reduce his/her consumption of petrol?

Ans x 1. 10 percent
J 2. 20 percent
x 3. 15 percent
x 4. 30 percent

Question ID : 5038909109
Status : Answered
Chosen Option : 2
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Q10 What is the maximum number of triangles in the figure given below?

Ans  of 1 04
5 2.20
K 322
K 425

Question ID : 5038909092
Status : Answered
Chosen Option : 1

Q.11 In a certain coding language, ‘AGREE’ is written as ‘GAREE’ and ‘ADOPT’ is written as
‘DAOTP’.
How will ‘ADULT’ be written in that coding language?

Ans " 1 DAULT

/5 2.DALTU

o 3. DAUTL

/5 4. DUATL

Question ID : 5038909103
Status : Answered
Chosen Option : 3

Q.12 I AP HT 7T BT oY TR Weg A I @R A Haifta B R @ IR TIse vga
g A HARE R

ﬁ?m:ga::ugw:?
Ans X" 1 @l

X 2. 9%

< 3T

W 4. e S

Question ID : 5038909097
Status : Answered
Chosen Option : 4
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Q13 Tdentify the figure that completes the below pattern.

Ans AN
Ko
TR

N\
v 3 \\‘

x
J
17

Question ID : 5038909088
Status : Answered
Chosen Option : 1
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Q.14 Which of the following figures will complete the pattern of the figure given below?

| o
e
" e%

Question ID : 5038909093
Status : Answered
Chosen Option : 3
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Q.15 Select the option that is related to the third figure in the same way as the second figure is related to the first figure.

Ans

ke

X4 \J

Question ID : 5038909084
Status : Answered
Chosen Option : 3

Q.16 A,EBTHIS 8, F, EPI 8181 C, AP 3Pd BT sPhalarder gl B 3R D, CHF U &
Pl HTS @1 AfeTi €1 D, A | 5 UpR Hafta 82

Ans X 1 ATy TRe/ TR ga
K 2.uE
of 3. 557

R

Question ID : 5038909113
Status : Answered
Chosen Option : 1
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Q.17 Which of the following options will replace the question mark (?) and complete the
given number series?

229,104, ?2,13,5

Ans & 1.50
X 2.4
/X 3.36
o 440

Question ID : 5038909104
Status : Answered
Chosen Option : 1

Q.18 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Camel : Rajasthan :: Clouded Leopard : ?
Ans x 1. Goa

( 2. Meghalaya

x 3. Gujarat

75 4. Tamilnadu

Question ID : 5038909095
Status : Answered
Chosen Option : 1
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Q.19 Select a suitable figure from the answer figures that would replace the question mark (?)
?
L]
Ans
r R0
5 2
W 3
r 3
Question ID : 5038909080
Status : Answered
Chosen Option : 3
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Q.20 Select the option that is related to the third figure in the same way as the second figure is related to the first figure.

Ans

X2 4%1- %@

v | S S

.| o S
Ko | e &

Question ID : 5038909085
Status : Answered
Chosen Option : 3
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Q.21 Four positions of a die are given below. Which number will be on the face opposite to the face with number 1?7

Ans  of 14
K25
X 3.2
543

Question ID : 5038909083
Status : Answered
Chosen Option : 1

Q.22 In a certain coding language, 'BOOK' is written as '‘CQRO" and and ‘PEN’ is written as
‘QGQ’. How will 'PAGE' be written in that coding language?

Ans X 1 QCIH
o 2. acJ
75 3.QcJ
75 4.QBH

Question ID : 5038909102
Status : Answered
Chosen Option : 2
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Q.23 Which of the answer figures is the exact mirror image of the given problem figure when the mirror is held at the right
side?

Problem Figure:
» &2
. 00‘
.0. H) 99.
<
o

% é-ﬁ

o

) 0 0/
~< 1 ..N@i e

Ans

-

v .00 Y.
3. o
. ..N (t:_l).

Status : Answered
Chosen Option : 3

[ Question ID : 5038909086
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€

Q.24 fy Y fawent & A i+ fpedt 71 el v A vrwar € iR Tw SR 31 39 SruH
fawey o1 9 B

Ans X 1. srgdfar
o 2 o
75 3.3y
X 4R

Question ID : 5038909110
Status : Answered
Chosen Option : 2
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Q.25 Select the option figure in which the given figure is embedded (rotation is NOT allowed).

ns F
Ko
N

Question ID : 5038909089
Status : Answered
Chosen Option : 3
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Q.26 Select a suitable figure from the answer figures that would replace the question mark (?)

I | =D |

*J

Ans

A

Question ID : 5038909081
Status : Answered
Chosen Option : 4
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Q.27 A is the brother of E, F is the sister of E. C is the only son of A’s uncle. B and D are the
daughters of the only brother of C’s father.
How is C related to F?

Ans J 1. Cousin

x 2. Brother
X 3. Sister
x 4. Son

Question ID : 5038909112
Status : Answered
Chosen Option : 2
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Problem Figure:
@ eo. %%
3 ' YO
&% Vv,
L
OO
Ans
o’ .C)e u
i I
x| QT
&1 o®
- e
O
QO
o®
»
e° .
v &)
- C | Lo.
@ OC? PN
Q
o &
»
x| O5 4 °
v A O
@ a(,:). oo
O
o
»
x| 99 °
A FO
® GO' 50
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Q.28 Which of the answer figures is the exact water image of the given problem figure?

Question ID : 5038909082
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Status : Answered
Chosen Option : 4

Q.29 I fyeeq &1 997 HINT oY Y o3 | I e | Taifdra B R ave govT vsg e
e A Hefta B1

NHAT : I3 :: U : ?
Ans x1.q\:[
X 2.y

X 3w
o 4. fadiof

Question ID : 5038909096
Status : Answered
Chosen Option : 3
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Q.30 Three of the following four figures are alike in some manner whereas one is different.
Select the odd figure.

Ans

Ko

X 2

Question ID : 5038909098
Status : Answered
Chosen Option : 3

Q.31 frafafed 9 & faww &1 a5 $¥ | ([Fda: Jeur W)
Ans X' 1 gAY

75 2. qa R

75 3. 3T

o 4. sEHCEe

Question ID : 5038909111
Status : Answered
Chosen Option : 1
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Q.32 The following figures show the sequence of folding a piece of paper. The last figure shows the manner in which the
folded paper has been cut. Choose a figure that would most closely resemble the unfolded form of the paper.

Ans

X
A
a

&

.
SERSTICEEINIIC IS

Question ID : 5038909090
Status : Answered
Chosen Option : 2
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Q.33 In a certain coding language, ‘ADULT’ is written as ‘UMVEB’ and ‘YOUNG’ is written as
‘HOVPZ'. How will ‘CHILD’ be written in that coding language?

Ans " 1 EMID

o 2. EMuD
/5 3.DMJIE
/5 4.DIUME

Question ID : 5038909101
Status : Answered
Chosen Option : 2

Q.34 WWhat is the maximum number of triangles in the figure given below?

Ans " 1. 24
W 226
/X 3.28
K422

Question ID : 5038909087
Status : Answered
Chosen Option : 3

Section : Domain Knowledge

Q.1 In recursive systems, the output depends on:

Ans x 1. present and past inputs
« 2..present input, pastinputs and previous outputs

x 3. only present input

x 4. present input and previous outputs

Question ID : 5038909139
Status : Answered
Chosen Option : 1
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Q.2 For an ideal two winding transformer, which of the following is INCORRECT?

Ans ( 1. Magnetising curve for the core is non-linear
x 2. Winding resistances are negligible
x 3. Core losses are negligible

x 4. All the flux is confined to the magnetic core

Question ID : 5038909188
Status : Answered
Chosen Option : 2

Q.3 How many general purpose registers are there in 8085 microprocessor to store 8-bit
data?

Ans X 1.5
X 2.7
X 38
o 46

Question ID : 5038909167
Status : Answered
Chosen Option : 2

Q.4 If Krepresents the open-loop gain, then as K approaches zero, the root-loci
approaches towards:

Ans X" 1. open loop zeroes
X< 2. jo - axis
x 3. breakaway points

J 4. open loop poles

Question ID : 5038909174
Status : Answered
Chosen Option : 3

Q.5 The Thevenin’s voltage across terminal “a’ and ‘b’ in the following circuit is

X
50V C_) : 3 200
)

Ans " 1.50V

K 2.20v
K 310V
o 440V

Question ID : 5038909120
Status : Answered
Chosen Option : 4
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Q.6 A 50 cm long conductor is placed in a uniform magnetic field of flux density 0.12 T. If
the conductor carries a current of 15 A, determine the force on the conductor.

Ans " 1.045N

75 2.90N
o 309N
75 490N

Question ID : 5038909127
Status : Answered
Chosen Option : 2

Q.7 Which of the following faults is a symmetrical fault on a three-phase line?

Ans o 1oL
X2L-G
Ko3L-L
XaL-L-G

Question ID : 5038909148
Status : Answered
Chosen Option : 1

Q.8 The maximum demand on a power station is 100 MW. If the annual load factor is 50
percent, calculate the total energy generated in a year.

Ans o 1. 4380 x 10° kWh
< 2. 4380 x 10° kWh
/< 3. 8760 x 10® kWh
< 4 8760 x 10° kWh

Question ID : 5038909144
Status : Answered
Chosen Option : 4

Q.9 The steady state error is determined as the difference between the reference input and
the system output at

Ans o 1t — o

K 2.t=0
X 3.t = time constant
N4t =t,

Question ID : 5038909170
Status : Answered
Chosen Option : 1
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Q.10 The frequency of the e.m.f. in the stator of a 4-pole induction motor is 50 Hz and that in
the rotor is 1.5 Hz. Find the speed at which the motor is running.

Ans  of 1 1455 pm

75 2.1050 rpm
x 3. 1500 rpm
x 4. 500 rpm
Question ID : 5038909197
Status : Answered
Chosen Option : 1
Q.11 The circulation of a vector field around a closed path is given by of a vector.

Ans J 1. Curl
x 2. Divergence
x 3. Gradient

x 4. Laplacian

Question ID : 5038909125
Status : Answered
Chosen Option : 1

Q.12 Which of the following time intervals is NOT included in the total turn-on time of a
thyristor?

Ans x 1. Delay time
J 2. Gate recovery time
x 3. Spread time

75 4.Rise time

Question ID : 5038909153
Status : Answered
Chosen Option : 4

Q.13 Which one of the following statements is INCORRECT with regard to the open loop
control system?

Ans x 1. Its overall cost is low
x 2. Itis easy to maintain
J 3..It has a feedback element

x 4. Itis simple in construction

Question ID : 5038909169
Status : Answered
Chosen Option : 3
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Q14 Which fault is being symbolised by the following figure?

Ans " 1. L—L fault
o 2. L-L-Gfault
75 3.L-Gfault
X 4 L-L-Lfault

Question ID : 5038909149
Status : Answered
Chosen Option : 2

Q.15 The reluctance offered by a magnetic circuit of a unit length and unit cross-section is
called

Ans x 1. permeance

x 2. absolute permeability

J 3. reluctivity

x 4. permittivity

Question ID : 5038909124
Status : Answered
Chosen Option : 2

Q.16 Which of the following devices is also known as COMFET?
Ans X 1.GTO

75 2.SITH
o 3.168T
X 4.mcT

Question ID : 5038909158
Status : Answered
Chosen Option : 3

Q.17 The stator of a three-phase induction motor has 3 slots per pole per phase. Calculate
the total number of slots.

Ans X 118
of 254
/X 3.36
F Ny

Question ID : 5038909194
Status : Answered
Chosen Option : 3
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Q.18 A series RC cireuit has |Vz| = 12V and |V.| = 5 V. The magnitude of the supply voltage is:
Ans x 1.7V

X2 _7V

o 313V

K47V

Question ID : 5038909122
Status : Answered
Chosen Option : 3

Q.19 In alternators, the coil-span factor for full pitched coil is and that for short-
pitched coil is , respectively.

Ans x 1. unity, zero
J 2. unity, less than unity

x 3. less than unity, unity

x 4. zero, unity

Question ID : 5038909196
Status : Answered
Chosen Option : 2

Q.20 A is best suited for driving cranes and hoists.

Ans J 1. DC series motor

x 2. stepper motor

x 3. DC shunt motor

x 4. synchronous motor

Question ID : 5038909190
Status : Answered
Chosen Option : 1

Q.21 A generating station has a connected load of 50 MW and a maximum demand of 20
MW. Find the demand factor.

Ans  of 104
X 205
X 3.25
X 4.075

Question ID : 5038909142
Status : Answered
Chosen Option : 1
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Q.22 Which of the following is an INCORRECT type of amplitude scaling operation?
Ans X" 1. Addition

X 2. Attenuation
75 3. Amplification

J 4. Expansion

Question ID : 5038909136
Status : Answered
Chosen Option : 3

Q.23 Which of the following devices is unidirectional?
Ans X" 1. MOSFET

/X 2. TRIAC

/X 3.DIAC
o 4. sCR

Question ID : 5038909150
Status : Answered
Chosen Option : 1

Q.24 In an 8085 microprocessor, which of the following instructions means 'Jump to 16-bit
address if the sign flag is set'?

Ans o 1 UM 16 bit
75 2.JC 16 bit
75 3.JP 16 bit
75 4. JPE 16 bit

Question ID : 5038909168
Status : Answered
Chosen Option : 2

Q.25 Calculate the highest speed at which the 60 Hz alternator can be operated.
Ans X" 1.3000 rpm

#< 2.2400 rpm
o 3.3600¢pm
75 4.4200 rpm

Question ID : 5038909195
Status : Answered
Chosen Option : 1
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Q26 For the following circuit, find the conductance.
l!
+
2ma(}) 10kQ § v

Ans X" 1 10 S
X 2.10ms
o 3.100 S
75 4.100 ms

Question ID : 5038909117
Status : Answered
Chosen Option: 3

Q27 Calculate the number of branches and nodes in following circuit.

50
MMy

m§ gm @)mv§4n

Ans J 1. 5 branches, 3 nodes
x 2. 10 branches, 3 nodes
x 3. 5 branches, 5 nodes

x 4. 10 branches, 8 nodes

Question ID : 5038909118
Status : Answered
Chosen Option : 3

Q.28 Which type of chopper operates only in a second quadrant?
Ans & 1 Class D

X 2.Class C
of 3. Class B
X 4. Class A

Question ID : 5038909156
Status : Answered
Chosen Option : 3
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Q.29 The function y(n) = x(2n) is an example of
Ans X 1. folding

x 2. time advance
J 3. compression

X 4. expansion

Question ID : 5038909135
Status : Answered
Chosen Option : 3

@30 Find the voltage v, in the following circuit.

40
AN
+ oy -
InvC:) CI BV
~AAN
20
Ans 1.9V
K 2.3V
K 3.6V

o 4 12v

Question ID : 5038909119
Status : Answered
Chosen Option : 1

Q.31 Which law is used to obtain the differential magnetic field intensity at a point due to a
differential current element?

Ans  of 1 Biot-Savart law
x 2. Faraday’s law
X 3. Lenz's law
x 4. Ampere’s law

Question ID : 5038909184
Status : Answered
Chosen Option : 4
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Q.32 Which of the following is NOT a VALID property of Curl?

Ans X" 1. The curl of gradient of a vector is zero
x 2. The curl of a vector is a vector quantity
x 3. The curl of a scalar makes no sense

J 4. The divergence of a curl is always non-zero

Question ID : 5038909175
Status : Answered
Chosen Option : 4

Q.33 A network has 10 independent loops and 7 nodes. The number of branches in the
network will be

Ans X" 110
K212
/X 3.14
o 416

Question ID : 5038909115
Status : Answered
Chosen Option : 4

Q.34 In an 8085 microprocessor, which of the following is a 2-byte instruction?
Ans X" 1 MOV BA

/X 2.NoP

75 3. JMP 2050 H
o 4. 0UTO1H

Question ID : 5038909166
Status : Answered
Chosen Option : 2

Q.35 In series type ohmmeters, zero adjustment should be done by:

Ans x 1. changing the series as well as shunt resistance together
x 2. changing the series resistance
x 3. changing the battery voltage

( 4. changing the shuntiresistance across the meter movement

Question ID : 5038909185
Status : Answered
Chosen Option : 4
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Q.36 The closed-loop transfer function of a linear time-invariant system has multiple poles on jo-axis. Comment on the
stability.

Ans ' 1. Stable
J 2. Unstable
75 3. Relatively stable

X 4. Marginally stable

Question ID : 5038909177
Status : Answered
Chosen Option : 4

Q.37 Which of the following signals is called delta function?
Ans " 1. Unitramp

X 2. Exponential

J 3. Unit impulse

X 4. Unit step
Question ID : 5038909134
Status : Answered
Chosen Option : 3
Q.38 The ratio of electric flux density and electric field intensity is the of the

medium in which the charge is located.
Ans J 1. permittivity
x 2. reluctivity
x 3. resistivity
x 4. conductivity

Question ID : 5038909130
Status : Answered
Chosen Option : 1

Q.39 A single-phase half-bridge inverter has a DC voltage source Vs =200 V. Find the rms
value of the fundamental component of the output voltage.

Ans o 1 90V

75 2.100 v
75 3.180V
/X 4.200V

Question ID : 5038909155
Status : Answered
Chosen Option : 2
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Q.40 In which of the following cases the use of autotransformer is more economical as
compared to a two-winding transformer?

Ans J 1. Voltage ratio is 0.9
x 2. Voltage ratio is 0.5
x 3. Voltage ratio is 0.75

x 4. Voltage ratio is 0.1

Question ID : 5038909189
Status : Answered
Chosen Option : 3

Q.41 In a three-phase semiconverter, firing angle is 30°. The freewheeling diode will conduct
for:

Ans & 1.120°
X 2.30°
75 3.150°
o

Question ID : 5038909159
Status : Answered
Chosen Option : 3

Q.42 The energy of a power signal is
Ans x 1. zero

75X 2. finite
X 3. unity
o 4. infinite

Question ID : 5038909133
Status : Answered
Chosen Option : 4

Q.43 Which of the following is RC feedback oscillator?
Ans J 1. Wien bridge oscillator

x 2. Hartley oscillator
x 3. Colpitts oscillator

x 4. Clapp oscillator

Question ID : 5038909165
Status : Answered
Chosen Option : 1
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Q.44 With the help of which theorem the surface integral can be converted into a volume
integral?

Ans x 1. Biot-Savart’s theorem
x 2. Curl theorem
J 3. Divergence theorem

x 4. Stoke’s theorem

Question ID : 5038909131
Status : Answered
Chosen Option : 4

Q.45 The charge density of a surface charge is measured in

Ans J 1. Coulomb/square metre
x 2. Coulomb/cubic metre
X 3. Coulomb/metre
#5 4. Coulomb

Question ID : 5038909129
Status : Answered
Chosen Option : 2

Q.46 Which of the following is INCORRECT with regard to PMMC instrument?
Ans x 1. Very high accuracy

x 2. No hysteresis error
x 3. High torque to weight ratio

( 4. Non-uniform scale

Question ID : 5038909178
Status : Answered
Chosen Option : 2

_

Q.47 ANorton circuit with 10 A current source and 15 0 Norton’s resistance is connected across a 5 2 load resistance. The
current in 5 £ load resistanee will be

Ans X 1. 5A
K 2.10A
o 3. 75A
X 425A

Question ID : 5038909121
Status : Answered
Chosen Option : 4
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Q.48 Which of the following systems is an example of dynamic system?
Ans X 1. y(n)=nx(n)+b x%(n)

x 2.y(n) =nx(n)

X 3.y(n)=3x(n)+5

W 4.y(n)=x(n)

Question ID : 5038909137
Status : Answered
Chosen Option : 4

Q.49 With reference to the signal flow graph, a loop with single node and single branch is
called:

Ans x 1. non-touching loop

J 2. self loop
x 3. touching loop
x 4. mixed loop

Question ID : 5038909173
Status : Answered
Chosen Option : 1

Q.50 For a series string of six SCRs, efficiency is 90 percent. Find the derating factor.

Ans x 1. 20 percent
J 2. 10 percent
X 3. 5 percent
x 4. 15 percent

Question ID : 5038909157
Status : Answered
Chosen Option : 2

Q.51 Which of the following is NOT a part of steam power station?
Ans J 1. Penstocks

x 2. Superheater
x 3. Condenser

75 4. Boiler

Question ID : 5038909141
Status : Answered
Chosen Option : 1
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Q.52 A 120V DC motor has armature resistance of 0.5 Q and back e.m.f. of 110 V. Find the armature current.
Ans " 1.220 A

K 2.10A
W 3.20A
/X 4.240 A

Question ID : 5038909191
Status : Answered
Chosen Option : 3

Q.53 Which of the following devices can be turned off by a negative gate pulse?
Ans X' 1. DIAC

/X 2. TRIAC

75 3.SCR
o 4. GTO

Question ID : 5038909151
Status : Answered
Chosen Option : 4

_ =
Q.54 In CRO, the ‘delay line’ introduces delays of to the vertical signal.

Ans “ 1.150 nsto 1 ms
X 2.10 ns to 100 ns
x 3. 15 ms to 100 ms
75 4.100msto 1s

Question ID : 5038909187
Status : Answered
Chosen Option : 1

Q.55 A 250V shunt motor with armature resistance of 0.5 €2 runs at 600 rpm on full load and takes an armature current of 20
A If resistance of 1 £ is placed in the armature cireuit, find the speed at full load torque.

Ans  off 1 550 rpm
#< 2.450 rpm
75 3.500 rppm
x 4. 600 rpm

Question ID : 5038909193
Status : Answered
Chosen Option : 1
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Q.56 The closed loop voltage gain of a/an is 1.
Ans X" 1. integrator

X 2. differentiator
J 3. voltage follower

X 4. comparator

Question ID : 5038909164
Status : Answered
Chosen Option : 3

Q.57 Inacommon base configuration, Iy = 0.05 mA and [, =0.95 mA. Find the value of current amplification factor.

Ans 57110
/5 2.0.90
K 305
of 4095

Question ID : 5038909162
Status : Answered
Chosen Option : 4

Q.58 An electric iron draws 2 A current at 120 V. Find the resistance.

Ans  of 1. 60 Q
<2300
X3120Q
K4 2400

Question ID : 5038909114
Status : Answered
Chosen Option : 1

_— =

Q.59 Which of the following commutation techniques is a line commutation?
Ans X" 1 Class A

/X 2.Class B
X 3. Class E
of 4. ClassF

Question ID : 5038909152
Status : Answered
Chosen Option : 1
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Q.60 Belted cables used to deliver three-phase power are generally used for the voltages

Ans  off 1 upto11kv
75 2. from 66 kV to 132 kV
75 3.above 132 kv
75 4. from 33 kV to 66 kV

Question ID : 5038909147
Status : Answered
Chosen Option : 2

Q.61 As compared to half bridge inverter, in a full bridge inverter, the output power
delivered to load is:

Ans X' 1. same
x 2. two times
/5 3. half
of 4. four times

Question ID : 5038909154
Status : Answered
Chosen Option : 4

Q.62 Which of the following is NOT a desirable property of OPAMP?
Ans X" 1. Low output impedance

x 2. Large open loop voltage gain
J 3. Low input impedance
/X 4. Large CMRR

Question ID : 5038909163
Status : Answered
Chosen Option : 3

Q.63 Super tension cables are manufactured for the voltage

Ans X" 1 above 132 kV
/5 2.upto 11kV
W 3. from 22 KV 1033 KV

75 4. from 33 kv to 66 kV

Question ID : 5038909145
Status : Answered
Chosen Option : 1

Downloaded from - rajhindinews.com




Visit - rajhindinews.com & Download : All Shift CBT Question Papers (Hindi & English)

Q.64 Which type of insulation material is also known as ‘empire tape'?

Ans x 1. Polyvinyl chloride
J 2. Varnished cambric
x 3. Impregnated paper
x 4. Vulcanized Indian rubber

Question ID : 5038909146
Status : Answered
Chosen Option : 4

Q.65 In an energy-meter, the major cause of creeping is:

Ans J 1. overcompensation for friction
x 2. excessive voltage across the potential coil
x 3. stray magnetic fields

x 4. mechanical vibrations

Question ID : 5038909182
Status : Answered
Chosen Option : 1

Q.66 In DC machines, the use of wave winding is prohibited if the armature currents
exceeds

Ans  of 1300 A

/X 2.150 A
/X 3.50A
75 4.100 A

Question ID : 5038909198
Status : Answered
Chosen Option : 3

Q.67 In a 6-node network, how many node voltages will be defined for nodal analysis?

Ans  of 15
X 2.4
X 36
K47

Question ID : 5038909116
Status : Answered
Chosen Option : 1
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Q.68 “The electric flux passing through any closed surface is equal to the total charge
enclosed by that surface.” Which law is given by this statement?

Ans  of 1 Gauss’s law
x 2. Faraday’s law
75 3. Coulomb’s law

x 4. Ampere’s law

Question ID : 5038909128
Status : Answered
Chosen Option : 4

Q.69 A series RLC circuit has R=30 €, |X.| = 50Q and |X,| = 90 Q. The impedance of the circuit is:
Ans X 1. 30+j140Q

/<2 30-j40Q

Vw3 30+j40Q

K4 —-30+j400Q

Question ID : 5038909123
Status : Answered
Chosen Option : 3

Q70 1n a common base configuration, Iy = 1 mA and = 0.90 mA. Find I5 .
Ans " 1.1.9mA

/< 2.1.0mA

o 3.01mA

< 4.09mA

Question ID : 5038909161
Status : Answered
Chosen Option : 3

Q.71 In an induction type wattmeter:

Ans x 1. current coil is the moving coil
x 2. voltage coil is the moving coil
J 3¢ voltage coiland current coil both are stationary

x 4. voltage coil and current coil both are moving

Question ID : 5038909181
Status : Answered
Chosen Option : 2
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Q.72

Ans x 1.X(@2) =k

K 2.X@2)=1
X3 X(Z)=27%
v X(Z)=2"

The Z-Transform of advanced unit impulse function § (n + k) is:

Question ID : 5038909140
Status : Answered
Chosen Option : 3

Q.73 Air friction damping is used in

Ans X" 1. PMMC type
x 2. hot wire type
J 3. moving iron type

x 4. induction type

instruments.

Question ID : 5038909180
Status : Answered
Chosen Option : 1

Q.74 A400V, 5 HP DC motor has a cold armature resistance of 0.25 € and a full load current of 50 A. If this motor is started

from the line directly, what will be the starting current drawn by the motor?

Ans " 1.50 A

75 2.1000 A
o 3.1600 A
75 4.500 A

Question ID : 5038909192
Status : Answered
Chosen Option : 1

Q.75 Laplacian of scalar V is denoted as:
Ans o 1. y2Y

X2 VY

< 3 _[f V

X4 ¢V

Question ID : 5038909126
Status : Answered
Chosen Option : 2
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Q.76 Which of the following types of instruments can be used for AC measurements only?

Ans x 1. Thermocouple type instruments
X 2. PMMC instruments
J 3. Induction type instruments

X 4. Rectifier type instruments

Question ID : 5038909179
Status : Answered
Chosen Option : 3

Q.77 Consider the following Bode function:

10
5(5+2)

G(s)H(s) =

Ans " 115
5 2.20
o35
K 410

The gain for constructing the Bode plot for the given transfer function is:

Question ID : 5038909176
Status : Answered
Chosen Option : 3

Q.78 A triangular wave can be generated by:

Ans x 1. differentiating a sine wave
x 2. integrating a sine wave
J 3. integrating a square wave

x 4. differentiating a square wave

Question ID : 5038909183
Status : Answered
Chosen Option : 3

_— =

Q.79 The concept of transfer function applies to:
Ans X" 1. only MIMO systems

x 2. linear and non-linear systems
x 3. linear time varying systems only

J 4. lineartime invariant systems only

Question ID : 5038909171
Status : Answered
Chosen Option : 4
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Q.80 A voltage multiplier with a multiplication factor of three is called
Ans X" 1. voltage doubler

x 2. voltage limiter
x 3. voltage quadrupler

J 4. voltage tripler

Question ID : 5038909160
Status : Answered
Chosen Option : 2

Q.81 Which of the following conditions is required to be satisfied if a continuous time signal
x(t) is said to be even?

Ans X1 x(t) = —x(21)
V2 x(t) = x(-t)
X3 x(t) = —x(t)
25 4 x(t) = x(2Y)

Question ID : 5038909132
Status : Answered
Chosen Option : 2

Q.82 In a signal flow graph, the output node has:

Ans x 1. at least one incoming branch and multiple outgoing branches
x 2. one outgoing branch only
x 3. one outgoing branch and one incoming branch

J 4. incoming branches but no outgoing branch

Question ID : 5038909172
Status : Answered
Chosen Option : 3

Q.83 What is the ohms/volt rating of a voltmeter with a 25 yA movement?

Ans 1. 400 UV
< 2 4000 QV
X3 400V
W 440000 UV

Question ID : 5038909186
Status : Answered
Chosen Option : 4
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Q.84 Which of the following systems is a time-variant system?
Ans x 1. y(n) = Cos x(n)

V2 ym)=x(n?)
X 3 y(n) =|x(n)|
X 4. y(n) = x(-n)

Question ID : 5038909138
Status : Answered
Chosen Option : 2

Q.85 Which of the following is NOT a valid disadvantage of low power factor?

Ans X' 1. Large copper losses
x 2. Greater conductor size
J 3. Smaller KVA rating of equipment

x 4. Poor voltage regulation

Question ID : 5038909143
Status : Answered

Chosen Option : 2
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